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R2 R3 R4 R5 R6
[y E] (a) 22.475 21.352 18.371
SHERRA &R (b) 0 0 0
RATEE (c=atb) 22.475 21.352 18.371
BIEFED S DIFHER (d) 25.496 10.542 7.719
XAEER (e) 37.429 24175 26.090
BFERNEE (f) 10.542 7.719 0.000
S ERIZHIGHLER (9) 10.542 7.719 0.000
TR% (h = c+d-e-f) 0.000 0.000 0.000
RELHHEH + TRE (h = (g+h)/(c+d)) 22.0% 24.2% 0.0%
REHHEH A+ TRENM 0% ZBA T\ BIHATNDER FETRHEE AEE LIRSS -
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[ax-Cl (a) 26.338 20.782 15.483
STERIRA 1ERER (b) 0 0 0
RAVER (c=a+b) 26.338 20.782 15.483
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XIEER (e) 28.910 20.782 15.483
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D ERIHIGHLER (9) 0 0 0
%R (h = c+d-e-f) 0 0 0
REHRH + TR (h = (g+h)/(ctd)) 0.0% 0.0% 0.0%
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